BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024 LJA ENGINEERING, INC.

C CORTEZ JUNE 25, 2024 0386-5014D (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTERNATE ITEMS
1) CE BARKER LTD.	\$1,996,297.01	\$1,979,542.01
2) ICON GC LLC	\$2,095,700.00	\$2,088,998.00
3) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC	\$2,149,080.40	\$2,184,601.00
4) PRECISE SERVICES INC.	\$2,228,577.10	\$2,211,263.60
5) DVL ENTERPRISES LLC	\$2,616,862.00	\$2,594,522.00

CALENDAR DAYS 40/50



I, FRANCISCO CORTEZ, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024

LJA ENGINEERING, INC. C CORTEZ JUNE 25, 2024 0386-5014D (9.2)

LJA JOB NO. 0386-5014D (9.2)									
			1) CE BARK	ARKER LTD. 2) ICON GC LLC			: CONSTRUCTION AND ENGINEERING SERVIC		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
KICKAPOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES I	TEMS								
1 24" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI BACKFILL AND CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PL		1117	\$105.00	\$117,285.00	\$110.00	\$122,870.00	\$118.20	\$132,029.40	
2 24" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITH PAVING, COMPLETE IN PLACE		932	\$130.00	\$121,160.00	\$124.00	\$115,568.00	\$152.50	\$142,130.00	
3 30" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITH PAVING, COMPLETE IN PLACE		31	\$135.00	\$4,185.00	\$223.00	\$6,913.00	\$165.00	\$5,115.00	
4 42" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITH PAVING, COMPLETE IN PLACE		100	\$220.00	\$22,000.00	\$344.00	\$34,400.00	\$231.00	\$23,100.00	
5 7'X5' RCB STORM SEWER, C-76, CLASS III, ASTM C-1433, ALL CUTS, TO BEDDING AND BACKFILL, COMPLETE IN PLACE	NCLUDE LF	105	\$1,000.00	\$105,000.00	\$1,050.00	\$110,250.00	\$1,010.00	\$106,050.00	
6 UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STAI PROCTOR DENSITY (WITHIN PROJECT LIMITS), COMPLETE IN PLACE	NDARD CY	2540	\$2.40	\$6,096.00	\$6.00	\$15,240.00	\$5.00	\$12,700.00	
7 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2401	\$0.01	\$24.01	\$0.01	\$24.01	\$1.00	\$2,401.00	
8 JUNCTION BOX WITH TYPE C MANHOLE TOP, ALL, DEPTHS, COMPLETE	IN PLACE EA	1	\$25,000.00	\$25,000.00	\$9,600.00	\$9,600.00	\$20,460.00	\$20,460.00	
9 CONTRACTOR TO CORE INTO EXISTING TYPE "C" MANHOLE & CONNEC PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PL		4	\$1,000.00	\$4,000.00	\$1,300.00	\$5,200.00	\$5,058.00	\$20,232.00	
10 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTH INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	S, EA	15	\$3,500.00	\$52,500.00	\$4,860.00	\$72,900.00	\$4,294.00	\$64,410.00	
11 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS COMPLETE IN PLACE	S, EA	1	\$5,000.00	\$5,000.00	\$16,350.00	\$16,350.00	\$6,670.00	\$6,670.00	
12 8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$120.00	\$240.00	\$665.00	\$1,330.00	\$1,215.00	\$2,430.00	
13 REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG, AND CONNECT PI STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	ROPOSED EA	3	\$600.00	\$1,800.00	\$500.00	\$1,500.00	\$267.00	\$801.00	
14 DRAINAGE SWALE, "V" BOTTOM, 4:1 SIDE SLOPES, COMPLETE IN PLAC	E LF	1725	\$12.00	\$20,700.00	\$8.50	\$14,662.50	\$17.00	\$29,325.00	
15 FINAL ADJUSTMENTS TO STORM SEWER MANHOLE RIM ELEVATIONS, IN PLACE	COMPLETE EA	16	\$50.00	\$800.00	\$1.00	\$16.00	\$989.00	\$15,824.00	
16 STAGE I - REINFORCED CONCRETE 5' TYPE "C" INLET, ALL DEPTHS, IN INLET PROTECTION BARRIER FOR STAGE 1 INLET, COMPLETE IN PLAI		14	\$1,850.00	\$25,900.00	\$2,480.00	\$34,720.00	\$2,769.00	\$38,766.00	
17 STAGE II - REINFORCED CONCRETE 5' TYPE "C" INLET, ALL DEPTHS, CO IN PLACE	OMPLETE EA	11	\$3,500.00	\$38,500.00	\$2,195.00	\$24,145.00	\$2,338.00	\$25,718.00	
18 STAGE I - REINFORCED CONCRETE TYPE "C" INLET BASE WITH SQUAI INLET TOP, ALL DEPTHS, COMPLETE IN PLACE	RE GRATE EA	6	\$2,800.00	\$16,800.00	\$3,400.00	\$20,400.00	\$2,019.00	\$12,114.00	
19 STAGE I - REINFORCED CONCRETE 10' TYPE "C" INLET, ALL DEPTHS, IN INLET PROTECTION BARRIERS FOR STAGE 1 INLET, COMPLETE IN PLA		3	\$3,500.00	\$10,500.00	\$2,370.00	\$7,110.00	\$2,150.00	\$6,450.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024 LJA ENGINEERING, INC. C CORTEZ

2071002 1101			_	1) CE BARK	EDITO	TD. 2) ICON (: CONSTRUCTION AND ENGINEERING SERVIC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST TOTAL COST		UNIT COST	TOTAL COST
20 STAGE	II - REINFORCED CONCRETE 10' TYPE "C" INLET, ALL DEPTHS, ETE IN PLACE	EA	3	\$2,000.00	\$6,000.00	\$3,330.00	\$9,990.00	\$2,224.00	\$6,672.00
	TERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE SER), COMPLETE IN PLACE	LF	1800	\$20.00	\$36,000.00	\$1.00	\$1,800.00	\$13.00	\$23,400.00
	R DAM FOR INSTALLATION OF STORM SEWER, TO INCLUDE INSTALLATION EMOVAL, COMPLETE IN PLACE	EA	2	\$12,000.00	\$24,000.00	\$1,500.00	\$3,000.00	\$7,920.00	\$15,840.00
	VERTICAL DEPTH FOR 4' DIAMETER STORM SEWER MANHOLE (OVER 8'), COMPLETE IN PLACE	VF	20	\$20.00	\$400.00	\$1.00	\$20.00	\$153.00	\$3,060.00
EXHIBI	LT SURVEY FOR ALL DRAINAGE FACILITIES ITEMS, INCLUDES A CERTIFIED T AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING ARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$6,500.00	\$6,500.00
SECTIO	ONSTRUCTION STAKING FOR KICKAPOO ROAD STREET DEDICATION IN TWO DRAINAGE FACILITIES ITEMS, COORDINATE WITH LJA SURVEYING ARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00	\$9,500.00	\$9,500.00
STAKE RESTA OR FAI SUCH A	SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION S THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE KING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING LING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, NTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
27 ADJUS PLACE	T EXISTING SANITARY SEWER MANHOLE RIM ELEVATION, COMPLETE IN	EA	7	\$171.00	\$1,197.00	\$2,560.00	\$17,920.00	\$849.00	\$5,943.00
KICKAPOO R	OAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEMS SUBT				\$654,787.01		\$655,628.51		\$740,140.40
KICKAPOO R	OAD STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITEMS								
FOOTIN REBAR CONST	VALL STRUCTURE (RANGING FROM 12' TO 13' HEIGHT FROM TOP OF 10 TOP OF WALL), USING 4,000 PSI OF STRUCTURAL CONCRETE AND PER CROSS SECTION ON SHEET 42, INCLUDING FOOTINGS, KEYWAYS AT RUCTION JOINTS, FORMS, WEEPHOLES, 2' DEEP & 8" WIDE TOE WALLS, ETE IN PLACE, MEASURED PER CY OF STRUCTURAL CONCRETE	CY	319	\$1,000.00	\$319,000.00	\$1,120.00	\$357,280.00	\$850.00	\$271,150.00
	EINFORCED CONCRETE BOX CULVERT, C-76, CLASS III, ASTM C-1433, ALL TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	100	\$1,300.00	\$130,000.00	\$1,350.00	\$135,000.00	\$1,196.00	\$119,600.00
	C STORM SEWER, ASTM D-2241, SDR 26, ALL CUTS, TO INCLUDE BEDDING ACKFILL COMPLETE IN PLACE	LF	17	\$800.00	\$13,600.00	\$74.00	\$1,258.00	\$150.00	\$2,550.00
4 12" DE/ IN PLA	AD LEVEL TRENCH DRAIN OR APPROVED EQUAL, ALL DEPTHS, COMPLETE DE	EA	2	\$3,500.00	\$7,000.00	\$3,680.00	\$7,360.00	\$4,520.00	\$9,040.00
5 RUBBE	R GASKET TO CONNECT 12" PVC TO TYPE "A" INLET, COMPLETE IN PLACE	EA	2	\$190.00	\$380.00	\$650.00	\$1,300.00	\$1,980.00	\$3,960.00
SLIP RI	K CONCRETE SIDEWALK WITH #3 BARS, 18" O.C.E.W WITH A TEXTURED ESISTANT FINISH, AT BOTTOM BOX OF CULVERT, INCLUDES HOT-APPLIED FILLER ADJACENT TO BOX CULVERT WALLS, COMPLETE IN PLACE	SY	88	\$225.00	\$19,800.00	\$136.00	\$11,968.00	\$170.00	\$14,960.00
7 5'X5' C	DNCRETE SIDEWALK LANDING, COMPLETE IN PLACE	EA	2	\$375.00	\$750.00	\$911.00	\$1,822.00	\$1,385.00	\$2,770.00

JUNE 25, 2024

0386-5014D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024 LJA ENGINEERING, INC. C CORTEZ

			-	()						
				1) CE BARKI	ER LTD.	2) ICON G	C LLC	: CONSTRUCTION AND ENGINEERING SER		
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	8 PEDESTRIAN TUNNEL SOLAR TUBE SKYLIGHT, COMPLETE IN PLACE (TO BE APPROVED BY OWNER PRIOR TO INSTALLATION)	EA	1	\$3,200.00	\$3,200.00	\$11,999.49	\$11,999.49	\$11,870.00	\$11,870.00	
	9 ELECTRICAL LIGHTING AND FIXTURES AT END OF TUNNEL, (TO BE APPROVED BY OWNER PRIOR TO INSTALLATION), COMPLETE IN PLACE	EA	2	\$20,000.00	\$40,000.00	\$3,500.00	\$7,000.00	\$7,910.00	\$15,820.00	
1	0 TXDOT COMBINATION RAIL TYPE C402, COMPLETE IN PLACE	LF	388	\$265.00	\$102,820.00	\$325.00	\$126,100.00	\$155.00	\$60,140.00	
1	1 INLET PROTECTION BARRIER FOR GRATE-TOP INLETS INLETS, FILTER FABRIC FENCE INSTALLED AROUND ALL 4 SIDES, COMPLETE IN PLACE	EA	2	\$150.00	\$300.00	\$50.00	\$100.00	\$400.00	\$800.00	
KIC	KAPOO ROAD STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITEMS SUBTO				\$636,850.00		\$661,187.49		\$512,660.00	
KIC	KAPOO ROAD STREET DEDICATION SECTION 2 - PAVING ITEMS									
	1 ROADWAY AND ROW EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS, MAXIMUM HAUL DISTANCE 4,000 FT, OFFROAD, TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	6210	\$5.00	\$31,050.00	\$8.00	\$49,680.00	\$10.00	\$62,100.00	
	2 8" REINFORCED CONCRETE PAVEMENT, MINIMUM 4,500 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	7717	\$62.00	\$478,454.00	\$68.00	\$524,756.00	\$70.00	\$540,190.00	
	3 8" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	8280	\$3.50	\$28,980.00	\$8.00	\$66,240.00	\$6.00	\$49,680.00	
	4 HYDRATED LIME FOR STABILIZED SUB-GRADE (20 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	83	\$370.00	\$30,710.00	\$380.00	\$31,540.00	\$368.00	\$30,544.00	
	5 FLY ASH FOR STABILIZED SUB-GRADE (50 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	207	\$180.00	\$37,260.00	\$140.00	\$28,980.00	\$170.00	\$35,190.00	
	6 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4848	\$4.50	\$21,816.00	\$4.00	\$19,392.00	\$4.50	\$21,816.00	
	7 STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	206	\$5.00	\$1,030.00	\$10.00	\$2,060.00	\$58.00	\$11,948.00	
	8 REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$400.00	\$800.00	\$100.00	\$200.00	\$565.00	\$1,130.00	
	9 4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	7	\$20.00	\$140.00	\$20.00	\$140.00	\$40.00	\$280.00	
1	0 PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$6,000.00	\$6,000.00	\$4,600.00	\$4,600.00	\$19,780.00	\$19,780.00	
1	1 TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.) PER TXDOT STANDARDS, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1,250.00	\$1,250.00	\$650.00	\$650.00	\$14,130.00	\$14,130.00	
1	2 STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	4	\$700.00	\$2,800.00	\$495.00	\$1,980.00	\$963.00	\$3,852.00	
1	3 ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, (PER DETAIL SHEET 40), COMPLETE IN PLACE	EA	4	\$1,500.00	\$6,000.00	\$1,475.00	\$5,900.00	\$2,403.00	\$9,612.00	
1	4 INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	5	\$1,350.00	\$6,750.00	\$150.00	\$750.00	\$1,582.00	\$7,910.00	

JUNE 25, 2024

0386-5014D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024

LIA ENGINEFERING, INC.

LJA ENGINEERING, INC. C CORTEZ JUNE 25, 2024 0386-5014D (9.2)

257.002.10.		-	(0.2)						
			1) CE BARK	ER LTD.	2) ICON G	C LLC	CONSTRUCTION AND ENGINEERING SERVIC		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
15 INSTALL TYPE III BARRICADE WITH SKIDS, COMPLETE IN PLACE	EA	3	\$4,000.00	\$12,000.00	\$150.00	\$450.00	\$2,150.00	\$6,450.00	
16 6" PVC IRRIGATION SLEEVES SCHEDULE 40, PER DETAIL, COMPLETE IN PLACE	LF	303	\$30.00	\$9,090.00	\$22.00	\$6,666.00	\$56.00	\$16,968.00	
17 FULL CONSTRUCTION STAKING FOR KICKAPOO ROAD SECTION 2 ITEMS, COORDINATE WITH LJA SURVEYING INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$7,300.00	\$7,300.00	\$7,300.00	\$7,300.00	\$8,500.00	\$8,500.00	
18 AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, ROW, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	
19 EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	
KICKAPOO ROAD STREET DEDICATION SECTION 2 - PAVING ITEMS SUBTOTAL:				\$685,930.00		\$755,784.00		\$846,080.00	
KICKAPOO ROAD STREET DEDICATION SECTION 2 STORM WATER POLLUTION PREVE	NTION ITEM	ıs							
1 STAGE I INLET PROTECTION BARRIER FOR PROPOSED AND EXISTING INLETS, COMPLETE IN PLACE	EA	6	\$50.00	\$300.00	\$50.00	\$300.00	\$175.00	\$1,050.00	
2 STAGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR PROPOSED AND EXISTING INLETS, COMPLETE IN PLACE	EA	16	\$55.00	\$880.00	\$50.00	\$800.00	\$150.00	\$2,400.00	
3 INSTALL, MAINTAIN, AND REMOVE CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	
4 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	
5 BROADCAST SEEDING INCLUDES FERTILIZING AND WATERING, CONTRACTOR TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	O AC	3	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$1,750.00	\$5,250.00	
6 HYDROMUCLH SEEDING AND FINE GRADING, INCLUDES WATERING, CONTRACTOR TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	2	\$2,000.00	\$4,000.00	\$2,400.00	\$4,800.00	\$3,000.00	\$6,000.00	
7 REPAIRS TO MAINTENANCE BERM SIDE SLOPES, INCLUDES REGRADING AND SEEDING (DRY APPLICATION) OF DAMAGED AREAS TO EXISTING OR BETTER CONDITIONS, COMPLETE IN PLACE	SY	30	\$30.00	\$900.00	\$80.00	\$2,400.00	\$100.00	\$3,000.00	
8 30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLACE		1	\$800.00	\$800.00	\$800.00	\$800.00	\$1,250.00	\$1,250.00	
9 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$850.00	\$850.00	\$3,000.00	\$3,000.00	\$6,500.00	\$6,500.00	
KICKAPOO ROAD STREET DEDICATION SECTION 2 STORM WATER POLLUTION PREVE	N'			\$10,230.00		\$14,600.00		\$32,950.00	

BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY:** TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT INCLUDING KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTER

CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024 LJA ENGINEERING, INC. C CORTEZ

\$1,979,542.01

1) CE BARKER LTD. 2) ICON GC LLC CONSTRUCTION AND ENGINEERING SERVIC ITEM DESCRIPTION UNIT QTY **UNIT COST** TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST KICKAPOO ROAD STREET DEDICATION SECTION 2 - MISCELLANEOUS ITEMS 1 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR CY \$20.00 \$20.00 \$45.00 \$13,500.00 300 \$6,000.00 \$6,000.00 UNSATISFACTORY SOIL CONDITIONS, ALL SIZES & DEPTHS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 2 EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN CY 50 \$50.00 \$2,500.00 \$50.00 \$2,500.00 \$75.00 \$3,750.00 DIRECTION OF THE ENGINEER), COMPLETE IN PLACE KICKAPOO ROAD STREET DEDICATION SECTION 2 - MISCELLANEOUS ITEMS SUBTOTAL \$8,500.00 \$8,500.00 \$17,250.00 KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTERNATE ITEMS 1 24" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF 1117 \$90.00 \$100,530.00 \$104.00 \$116,168.00 \$150.00 \$167,550.00 KICKAPOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEMS ITEM #1, COMPLETE IN PLACE KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTERNATE ITEMS SUBTOTAL: \$100,530.00 \$116,168.00 \$167,550.00 **BIDDING SUMMARY** SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES \$654,787.01 \$655,628.51 \$740,140.40 SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITE \$636,850.00 \$661,187.49 \$512,660.00 SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 - PAVING ITEMS \$685,930,00 \$755,784,00 \$846,080,00 SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 STORM WATER POLLUTIO \$10,230.00 \$14,600.00 \$32,950.00 SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 - MISCELLANEOUS ITEMS \$8.500.00 \$8,500.00 \$17,250.00 **TOTAL AMOUNT BASE BID** \$1,996,297.01 \$2,095,700.00 \$2,149,080.40 KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTERNATE ITEMS TOTAL AMOUNT BASE BID \$1,996,297.01 \$2,095,700.00 \$2,149,080.40 DEDUCT KICKAPOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEMS ITEM NO.1 -\$117,285.00 -\$122,870.00 -\$132.029.40 SUBTOTAL KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTERNATE ITEMS \$100.530.00 \$116,168,00 \$167.550.00

JUNE 25, 2024

0386-5014D (9.2)

\$2,088,998.00

\$2,184,601.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024

LJA ENGINEERING, INC.
C CORTEZ

JUNE 25, 2024

5) DVL ENTERPRISES LLC

				4) PRECISE SER	RVICES INC.	5) DVL ENTERP	RISES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
KICK	APOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEMS						
1	24" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	LF	1117	\$120.00	\$134,040.00	\$140.00	\$156,380.00
2	24" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, COMPLETE IN PLACE	LF	932	\$125.00	\$116,500.00	\$160.00	\$149,120.00
3	30" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, COMPLETE IN PLACE	LF	31	\$160.00	\$4,960.00	\$200.00	\$6,200.00
4	42" RCP STORM SEWER, C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, COMPLETE IN PLACE	LF	100	\$270.00	\$27,000.00	\$300.00	\$30,000.00
5	7'X5' RCB STORM SEWER, C-76, CLASS III, ASTM C-1433, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	105	\$1,010.00	\$106,050.00	\$1,000.00	\$105,000.00
6	UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STANDARD PROCTOR DENSITY (WITHIN PROJECT LIMITS), COMPLETE IN PLACE	CY	2540	\$4.35	\$11,049.00	\$7.00	\$17,780.00
7	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2401	\$0.10	\$240.10	\$10.00	\$24,010.00
8	JUNCTION BOX WITH TYPE C MANHOLE TOP, ALL, DEPTHS, COMPLETE IN PLACE	EA	1	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00
9	CONTRACTOR TO CORE INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	4	\$3,750.00	\$15,000.00	\$2,500.00	\$10,000.00
10	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	15	\$6,050.00	\$90,750.00	\$6,000.00	\$90,000.00
11	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$19,000.00	\$19,000.00	\$7,500.00	\$7,500.00
12	8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,750.00	\$3,500.00	\$1,000.00	\$2,000.00
13	REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG, AND CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	3	\$2,350.00	\$7,050.00	\$500.00	\$1,500.00
14	DRAINAGE SWALE, "V" BOTTOM, 4:1 SIDE SLOPES, COMPLETE IN PLACE	LF	1725	\$10.00	\$17,250.00	\$30.00	\$51,750.00
15	FINAL ADJUSTMENTS TO STORM SEWER MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	16	\$250.00	\$4,000.00	\$1,000.00	\$16,000.00
16	STAGE I - REINFORCED CONCRETE 5' TYPE "C" INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE 1 INLET, COMPLETE IN PLACE	EA	14	\$2,650.00	\$37,100.00	\$3,500.00	\$49,000.00
17	STAGE II - REINFORCED CONCRETE 5' TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$2,200.00	\$24,200.00	\$3,000.00	\$33,000.00
18	STAGE I - REINFORCED CONCRETE TYPE "C" INLET BASE WITH SQUARE GRATE INLET TOP, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,500.00	\$15,000.00	\$3,500.00	\$21,000.00
19	STAGE I - REINFORCED CONCRETE 10' TYPE "C" INLET, ALL DEPTHS, INCLUDES INLET PROTECTION BARRIERS FOR STAGE 1 INLET, COMPLETE IN PLACE	EA	3	\$2,800.00	\$8,400.00	\$3,000.00	\$9,000.00

0386-5014D (9.2)

4) PRECISE SERVICES INC.

Page 7 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 25, 2024
LJA ENGINEERING, INC.
C CORTEZ
JUNE 25, 2024
0386-5014D (9.2)

				()				
				4) PRECISE SER	RVICES INC.	5) DVL ENTERPRISES LLC		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
20	STAGE II - REINFORCED CONCRETE 10' TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$3,250.00	\$9,750.00	\$5,500.00	\$16,500.00	
21	DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1800	\$30.00	\$54,000.00	\$10.00	\$18,000.00	
22	COFFER DAM FOR INSTALLATION OF STORM SEWER, TO INCLUDE INSTALLATION AND REMOVAL, COMPLETE IN PLACE	EA	2	\$9,500.00	\$19,000.00	\$25,000.00	\$50,000.00	
23	EXTRA VERTICAL DEPTH FOR 4' DIAMETER STORM SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	20	\$150.00	\$3,000.00	\$400.00	\$8,000.00	
24	AS-BUILT SURVEY FOR ALL DRAINAGE FACILITIES ITEMS, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	
25	FULL CONSTRUCTION STAKING FOR KICKAPOO ROAD STREET DEDICATION SECTION TWO DRAINAGE FACILITIES ITEMS, COORDINATE WITH LJA SURVEYING INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00	
26	EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
27	ADJUST EXISTING SANITARY SEWER MANHOLE RIM ELEVATION, COMPLETE IN PLACE	EA	7	\$250.00	\$1,750.00	\$1,000.00	\$7,000.00	
KICK	APOO ROAD STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEMS SUBT				\$753,289.10		\$923,440.00	
кіск	APOO ROAD STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITEMS							
1	HEADWALL STRUCTURE (RANGING FROM 12' TO 13' HEIGHT FROM TOP OF FOOTING TO TOP OF WALL), USING 4,000 PSI OF STRUCTURAL CONCRETE AND REBAR PER CROSS SECTION ON SHEET 42, INCLUDING FOOTINGS, KEYWAYS AT CONSTRUCTION JOINTS, FORMS, WEEPHOLES, 2' DEEP & 8" WIDE TOE WALLS, COMPLETE IN PLACE, MEASURED PER CY OF STRUCTURAL CONCRETE	CY	319	\$1,270.00	\$405,130.00	\$850.00	\$271,150.00	
2	8'X8' REINFORCED CONCRETE BOX CULVERT, C-76, CLASS III, ASTM C-1433, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	100	\$1,275.00	\$127,500.00	\$1,500.00	\$150,000.00	
3	12" PVC STORM SEWER, ASTM D-2241, SDR 26, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL COMPLETE IN PLACE	LF	17	\$115.00	\$1,955.00	\$70.00	\$1,190.00	
4	12" DEAD LEVEL TRENCH DRAIN OR APPROVED EQUAL, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$4,000.00	\$8,000.00	\$10,000.00	\$20,000.00	
5	RUBBER GASKET TO CONNECT 12" PVC TO TYPE "A" INLET, COMPLETE IN PLACE	EA	2	\$815.00	\$1,630.00	\$1,000.00	\$2,000.00	
6	4" THICK CONCRETE SIDEWALK WITH #3 BARS, 18" O.C.E.W WITH A TEXTURED SLIP RESISTANT FINISH, AT BOTTOM BOX OF CULVERT, INCLUDES HOT-APPLIED JOINT FILLER ADJACENT TO BOX CULVERT WALLS, COMPLETE IN PLACE	SY	88	\$160.00	\$14,080.00	\$100.00	\$8,800.00	
7	5'X5' CONCRETE SIDEWALK LANDING, COMPLETE IN PLACE	EA	2	\$900.00	\$1,800.00	\$2,500.00	\$5,000.00	

Page 8 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 25, 2024
LJA ENGINEERING, INC.
C CORTEZ
JUNE 25, 2024
0386-5014D (9.2)

					()				
			4) PRECISE SERVICES INC.			5) DVL ENTERP	5) DVL ENTERPRISES LLC		
	ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
	8	PEDESTRIAN TUNNEL SOLAR TUBE SKYLIGHT, COMPLETE IN PLACE (TO BE APPROVED BY OWNER PRIOR TO INSTALLATION)	EA	1	\$12,500.00	\$12,500.00	\$10,000.00	\$10,000.00	
	9	ELECTRICAL LIGHTING AND FIXTURES AT END OF TUNNEL, (TO BE APPROVED BY OWNER PRIOR TO INSTALLATION), COMPLETE IN PLACE	EA	2	\$6,000.00	\$12,000.00	\$50,000.00	\$100,000.00	
	10	TXDOT COMBINATION RAIL TYPE C402, COMPLETE IN PLACE	LF	388	\$355.00	\$137,740.00	\$300.00	\$116,400.00	
	11	INLET PROTECTION BARRIER FOR GRATE-TOP INLETS INLETS, FILTER FABRIC FENCE INSTALLED AROUND ALL 4 SIDES, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00	\$100.00	\$200.00	
-	KICK	APOO ROAD STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITEMS SUBTO				\$722,535.00		\$684,740.00	
	KICK	APOO ROAD STREET DEDICATION SECTION 2 - PAVING ITEMS							
	1	ROADWAY AND ROW EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS, MAXIMUM HAUL DISTANCE 4,000 FT, OFFROAD, TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	6210	\$5.25	\$32,602.50	\$7.00	\$43,470.00	
	2	8" REINFORCED CONCRETE PAVEMENT, MINIMUM 4,500 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	7717	\$66.00	\$509,322.00	\$90.00	\$694,530.00	
	3	8" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	8280	\$5.55	\$45,954.00	\$4.00	\$33,120.00	
	4	HYDRATED LIME FOR STABILIZED SUB-GRADE (20 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	83	\$345.00	\$28,635.00	\$350.00	\$29,050.00	
	5	FLY ASH FOR STABILIZED SUB-GRADE (50 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	207	\$140.00	\$28,980.00	\$150.00	\$31,050.00	
	6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4848	\$4.50	\$21,816.00	\$4.00	\$19,392.00	
	7	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	206	\$16.50	\$3,399.00	\$30.00	\$6,180.00	
	8	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00	\$100.00	\$200.00	
	9	4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	7	\$21.00	\$147.00	\$20.00	\$140.00	
	10	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$6,150.00	\$6,150.00	\$25,000.00	\$25,000.00	
	11	TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.) PER TXDOT STANDARDS, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$20,000.00	\$20,000.00	
	12	STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	4	\$715.00	\$2,860.00	\$500.00	\$2,000.00	
	13	ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, (PER DETAIL SHEET 40), COMPLETE IN PLACE	EA	4	\$2,000.00	\$8,000.00	\$3,000.00	\$12,000.00	
	14	INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	5	\$1,400.00	\$7,000.00	\$1,000.00	\$5,000.00	

Page 9 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024

LJA ENGINEERING, INC.
C CORTEZ

JUNE 25, 2024

5) DVL ENTERPRISES LLC

0386-5014D (9.2)

4) PRECISE SERVICES INC.

				4) PRECISE SER	RVICES INC.	5) DVL ENTERF	RISES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
15	INSTALL TYPE III BARRICADE WITH SKIDS, COMPLETE IN PLACE	EA	3	\$4,450.00	\$13,350.00	\$800.00	\$2,400.00
16	6" PVC IRRIGATION SLEEVES SCHEDULE 40, PER DETAIL, COMPLETE IN PLACE	LF	303	\$37.50	\$11,362.50	\$50.00	\$15,150.00
	FULL CONSTRUCTION STAKING FOR KICKAPOO ROAD SECTION 2 ITEMS, COORDINATE WITH LJA SURVEYING INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$7,300.00	\$7,300.00	\$7,300.00	\$7,300.00
	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, ROW, SIGNIFICANT GRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
KICK	APOO ROAD STREET DEDICATION SECTION 2 - PAVING ITEMS SUBTOTAL:				\$732,078.00		\$950,482.00
KICK	APOO ROAD STREET DEDICATION SECTION 2 STORM WATER POLLUTION PREVENT	TION ITEM	s				
	STAGE I INLET PROTECTION BARRIER FOR PROPOSED AND EXISTING INLETS, COMPLETE IN PLACE	EA	6	\$100.00	\$600.00	\$100.00	\$600.00
	STAGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR PROPOSED AND EXISTING INLETS, COMPLETE IN PLACE	EA	16	\$100.00	\$1,600.00	\$100.00	\$1,600.00
	INSTALL, MAINTAIN, AND REMOVE CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00
	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00
	BROADCAST SEEDING INCLUDES FERTILIZING AND WATERING, CONTRACTOR TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	3	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00
	HYDROMUCH SEEDING AND FINE GRADING, INCLUDES WATERING, CONTRACTOR TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	2	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00
	REPAIRS TO MAINTENANCE BERM SIDE SLOPES, INCLUDES REGRADING AND SEEDING (DRY APPLICATION) OF DAMAGED AREAS TO EXISTING OR BETTER CONDITIONS, COMPLETE IN PLACE	SY	30	\$22.50	\$675.00	\$200.00	\$6,000.00
	30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,000.00	\$1,000.00
	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
KICKA	APOO ROAD STREET DEDICATION SECTION 2 STORM WATER POLLUTION PREVEN				\$12,175.00		\$25,700.00

Page 10 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE KICKAPOO ROAD STREET DEDICATION SECTION 2 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2024 LJA ENGINEERING, INC. C CORTEZ

			A) DDECISE SEE	4) PRECISE SERVICES INC.		5) DVL ENTERPRISES LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	EDICATION SECTION 2 - MISCELLANEOUS ITEMS	OIVII	QII	ONIT COOT	TOTAL COOT	01411 0001	TOTAL GOOT
				***	*****	****	******
UNSATISFACTORY SO	R STORM SEWER BEDDING AND BACKFILL FOR IL CONDITIONS, ALL SIZES & DEPTHS, (TO BE USED ONLY ICTION OF THE ENGINEER), COMPLETE IN PLACE	CY	300	\$20.00	\$6,000.00	\$100.00	\$30,000.00
	ILIZED SAND (TO BE USED ONLY AT THE WRITTEN IGINEER), COMPLETE IN PLACE	CY	50	\$50.00	\$2,500.00	\$50.00	\$2,500.00
KICKAPOO ROAD STREET D	EDICATION SECTION 2 - MISCELLANEOUS ITEMS SUBTOTAL				\$8,500.00		\$32,500.00
KICKAPOO ROAD STREET D	EDICATION SECTION 2 - ALTERNATE ITEMS						
	PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF EET DEDICATION SECTION 2 – DRAINAGE FACILITIES ITEMS I PLACE	LF	1117	\$104.50	\$116,726.50	\$120.00	\$134,040.00
KICKAPOO ROAD STREET D	EDICATION SECTION 2 - ALTERNATE ITEMS SUBTOTAL:				\$116,726.50		\$134,040.00
BIDDING SUMMARY							
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 - DRAINAGE FACILITIES				\$753,289.10		\$923,440.00
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 - PEDESTRIAN TUNNEL ITE				\$722,535.00		\$684,740.00
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 - PAVING ITEMS				\$732,078.00		\$950,482.00
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 STORM WATER POLLUTION				\$12,175.00		\$25,700.00
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 - MISCELLANEOUS ITEMS				\$8,500.00		\$32,500.00
TOTAL AMOUNT BASE BID					\$2,228,577.10		\$2,616,862.00
KICKAPOO ROAD STREET D	EDICATION SECTION 2 - ALTERNATE ITEMS						
TOTAL AMOUNT BASE BID					\$2,228,577.10		\$2,616,862.00
DEDUCT KICKAPOO ROAD S	TREET DEDICATION SECTION 2 - DRAINAGE FACILITIES ITEM	IS ITEM N	0.1		-\$134,040.00		-\$156,380.00
SUBTOTAL KICKAPOO ROAD	STREET DEDICATION SECTION 2 - ALTERNATE ITEMS				\$116,726.50		\$134,040.00
TOTAL AMOUNT INCLUDING	KICKAPOO ROAD STREET DEDICATION SECTION 2 - ALTER				\$2,211,263.60		\$2,594,522.00

JUNE 25, 2024

0386-5014D (9.2)